JLL daly da

Qamlal) Ao cuaill aal) Jualy dagll) S

1434/02/01



il ) el AN G )

sl @l -1

DA )l 52 AUS die Bl Al el

A T

N8| LNRERIES g

Readln (A); Read (A);
sl -2

the valueis", A S| : Cilia ) Al
g G -3

A:=B3 +C il sl

8 LNWEREL Pyl

A=B*B*B+C
dpba il Cladaill 4

L il -

Sl ) sl

243 (A<0) 1al

< Glagdal Ao gane>

8 LR S -

If (A<O)then

Begin



B
Gl )l 3l
M (A<0) 1
< Glaalet 4e gana>
A s
< Glaaded de gana>
JSuls 4l
If (A<O)then
Begin



Gl )l 52l
Bine Loyl Ll Claplail) (e Ao sana ) S
DA (ngsba sl ral i) Ll
< Glagled de gana>
F JSLL Al
While (i<=n) do
Begin

& jriall &1 il
s July dad o dubual) clilaall
day ) dlaadl cilllaal) -1

+ aaall

- CJH\

* el

/] dadl

ALia]



C:=a+b;
S:=a-b;
E:=a*b;
D: = a/b;

Ja A eadall g5
+ |
- CJHI
i wyal Integer
div deanl]
mod Al A
+ e.@jl
* Eﬂ| Real
/ Tl




If x>=90and
x<=100

no

If x>=80and
x<90

If x>=70and
x<80

If x>=60and

x<70

If x>60




no
yes

b ¢kl




(8 220 M mmas 220 s sl el o) (laal) Laladiall (3l

program dectobinary;
var x,b:integer;
begin
writeln('enter decimal number');
readIn(x);
while(x<>0) do

begin

b:=x mod 2;

x:=x div 2;

writeln(b);

end

end.
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program findgcd,
var a,b :integer;
gcd:integer;
begin
writeln('enter two numbers');
readIn(a,b);
while (a<>b)do
begin
if(a>b) then

begin

a:=a-b;

end

else

b:=b-a;
end;

gcd:=a;
writeln('grand common divider =',gcd);

end.
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program minmax;

var n,i : integer;
X,Xmax,xmin,xmean:real;
begin

readin(n);

readIn(x);
Xxmin:=x;xmax:=x;Xmean:=x;
i:=1;

while(i<n) do

begin

readln(x);

if(x<xmin) then

Xmin:=x;

if(x>xmax)then
Xmax:=x;
Xmean:=xmean+x;
i:=i+1;

end;

writeln('‘Max=',xmax);
writeln(‘Min=',xmin);
writeln('Mean=',xmean/n);
end.
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program equation;
var a,b,c :real;
d,rd,rx,ry,x,x1,x2:real;

begin
writeln('equation of type ax2+bx+c Enter values fora b c');
readIn(a,b,c);

if(a=0) then

begin

writeln('equation is not second degree');
if(b<>0)then

writeln('solution=',-c/b)

else

writeln('Equation is triaval or not correct');
end
else
begin
d:=b*b-4*a*c;
if(d=0)then

begin

x:=-b/(2*a);

writeln('identical roots');

end

else

if(d>0) then



begin

rd:=sqrt(d);
x1:=(-b-rd)/(2*a);
x2:=(-b+rd)/(2*a);
writeln('two real roots');
writeln('x1=",x1,'x2=",x2);
end

else

begin

rd:=sqrt(abs(d));
rx:=-b/(2*a);
ry:=rd/(2*a);
writeln(‘complex roots:');
writeln('x1=",rx,'+i',ry);
writeln('x2=",rx,"-i',ry);
end;

end;

end.
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program array2;
var i:integer;
a:array[1..4]of integer;
begin

fori:=1to 4 do

readIn(a[i]);

fori:=1to4 do
writeln('a[',i,']=',a[i]);

end.
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program election;
var icinteger;
c:array[1..4]of integer;
begin
fori:=1to 4 do

cli]:=0;

readin(i);

while(i<>0) do

begin

if (1<=i) and (i<=4) then

cli]:=c[i]+1;

readIn(i);

end;

fori:=1to 4 do

writeln('C',i,'=",c[i]);

end.
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